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 �
 $��� ���� ���5�� ������  ����� �� %� 0 # �L����
 !
��� B������� H6� �L11 ��
N�������� ������ !���D� B��7�%6# ���� $%���� �
������� ������ !���" O�* =�* �% . 4�L� �	�

 ���������� ����5�� �� �*�-��� $%���� $�* ����� !��6��DUAL CONVERTER .  
 $���� �
 >%������ B����P� ,�%�1���Q.RS  !���D� B��7�%6N� �
 $���� E��� !�1� �'�� �����

 $���� �
 !6-����b  .�1� /�K1�� ��	 �
 ����1�� 8� =��ٕ� �� >�%��� ����5 ��5��� ���%�" ��
 T�� 2��6�� ������
 U���� ����� :  

  

 ����	3.89 �����	� ������ ����6	 
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•   $�6�� �
 ������� ������ ��� !��6Us ,Is ��L�  >%6�� >���+ ) !���� �
 !�5��( 4�	 �
 #
!��6��/�� >�%��� ����5 #  ������ ��1� �� Ue  ������ ��1� 4�5���Is.  �F%1* $���� $%�����

 H��7��� $�D� ������� �
 . 

•   $�6�� �
 ������� ������ ��� !��6Us ,Is  !������ >���+ ��L� ) M��� ��	V�%5( �
 #
!��6�� 4�	 ������ ��1� �� /�� >�%��� ����5 #Is   ������ ��1� =�+ Ue  $���� $%�����

1*������� �1�7�� ������� �
 �F% . 
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 ���� ��1� �� $%���� �����Us  ���� ��1� ��� #���7� 4����1 ���� Is ���5��� =�* �%�" #
� ����� ������� !������ 2��6�� ������ /�%���!�F���L� !��6� >�"� !�76� ���7�.  M5� ����1��� 8�

" O�* !�1���J� ������ �
 ,�-�
 ������ !��� . $�����Q.RW  ���1��� 4�	 $�7�� E-��:  

  

 ����	3.84  ���
�	 � ���� ���0��	 �����  

 ������ ��1�Is �*!�F���L� !��6� >�"� !�76� �1* � T�6� =�* %�5 $��� 2��1� $�7���� ��	� #
%1* ������� ������ �6���� !L5 �� ���+ �K11 �� .!�F���L��� !��6��� >����  ����% !*�� ����

/��1��� !�76 U��5� ����� !F
����� !�76��� #!�X� ������� ������ !�Y  �6�� !�76� . �
  >���+
������� U������ !��6� ���� ��� !�Z� /���� 4�5��V !�Z� !���3�� . !��6��� >���� >���+ �
 ���
����%�� 4�5��� !�X� $�* !���� =�+ ���� !�F���L��� .��*� $�&�� =�* $��� $%����� /�6��� !�

 !���D� B��7�%6N� �
 T�6���) M��� �
 M5�� 4�5��� ��%� %��� �
 T�6�.(  
3.4.< � ���	 ��0�  

3.4.<.3 �� ���	 �#�0�� �0����	 =	�/�	  

 !��&��� ��1� G���� !�1� !
��� �	 #������� ������� ������ $%���� ��'��� !��%��� !��1Ue  �

� $�%�$%��� .#������� ���* ��� ���� �
 ���� ��	 ������ ��1�  ��� #!�5�� >%6�� !����� �


 $���� �
 %���� �	Q.RW  . ������ �5���� ���� �
 ������� ���* ���� �
�Ie . ������ ��1�
!�5�� !���" �� ���� �
 ���� !�����# 1��� %���*� ���� !���7 ,��F�% $�%�� ���� !���" �
 H�6� !�

 $����� !1�����Q.RR .  

  

 ����	3.88�� �� .����/� � ���	 ��0�  

  



 

 >�/�	 ���� ����- :  

 $���� �
Q.RR  ������� �� !1��� =��D� $�%���� !��� K1 , K1’  ���� !�1�7�� $�%���� !���� #
 ������� ��K2, K2’ . �	� $�%���� B0���6� >%* T��1	 ���* ,)�1� :  

• K1  �K2’  !��6 �
$�'���� . $�%�� ���� ����� (���� ���� !��6�� 4�	 �
Us = Ue #
 M5�� (���� �����. 

• K2   �K1’  $�%�� ����� >���N�� O���� (���� ����� $�'�� !��6 �
 Us = -Ue ���� #
 M��� ,��+ (���� . 

• K1   �K2 '��!� ���� %" T���� # K1’   �K2’  (���� ���� !��6�� 4�	 �
 # !�'��
����  �3'�� ����� . 

 �����	 ?�
�	 @�� :  

 %���� 0 #������ 4�5�� O�*!�%������ $�%���� ��8� %%* =�* !1����� G����� =�* %���� $� #
����8��� !1����� !�%������ ����� .6D ������� %6
 ���� ��%1*�56 !��6 �
 $�%���� ��8� [% #

 ���* ���� $�6� ������ ��	 =�* Uki =Ue. ����* ,)�1� #,��F�% M5�� ��1��� ��� ������ #
 ������ �
 4�5�0� %�6� ���� �
 ���� ���%���� M5����Unidirectionnel en tension   .  

������� %6
 ���� ��%1* $�'�� !��6 �
 $�%�� !��� �
 �
 ���� !�1���+ ��
�� ������ ��	 =�* #
�� M5���� ������ M���� ) �
 M5�� $�6 ���� M���(.  /�%���� �*%��� $�6�� ���� >���+ !�5��%��

������ ���� 4�5�� %%��� ���". T���� �
 ������ ��	 =�* ,����� �1%��
 ���� ��� !�1���+ !787 �
 $�
B��7�%6N� �� U���
 /%������ %����� ������ ����� O���� 4�5��� %��% ���� T�� 2��6� ����� #
 ����1����� �� ��� )��� ������7�� �� �� � .  

 $���� M�6 $%���� ��L� ���%���� ������ ��5�� M���� ����� ���* ,)�1�Q.RR 
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��  �� >%��� $�%�� !����� K3�6� M������ ��	������� B���&��� !������ T��� )�� ������ 4�5�0 !�
$%���� ������� . ����1 �
 �� %� 0 #������� ������� ������ $%���� ��	 $�* !����  ��� !��%���
 !������ ���1��:  

•  %6���� ��%�� $8� !������ $�%���� ��8� $�&�� !���� . 

•  !�1�7�� !����� �* $���� !��� $� $�*. 
� �
8� $��� 0 �
 M5� U��D� �� U��� $  !��� # %6�� �\� �������� )T1   $�1� # $'��T1’ 

 O������ �56�� !��6� ( ����
  �������� $�&�� /%* M5�  M���D� O31� ��'�� �1�7�� U�����
�1�7�� ������ $'3� �
 !��* ��	%6
 $�&��� %6�� �\� ).������� 4�	 $�&��� /�6��� !���* ��� 

 !�������7 �
 �������1��� ������� B1�� )��� >����� 4�	 /%�� �
 M5� . ( �'" /%* ��-� ��	�
/�K1�� /����� $�&���� 2��6�� !��&��� ��1� . $���� �
Q.:]  a , �b  ������� !��-�  ���

8�$�%���� $ ������ $�&�� >��
 �
 #T1  ������ $'
�T1’  ������ =�*T2’ ��6 �
 =��� �
 !
 ������ =�*� # $�'��T2 �56 !��6 �
 ���� �
 . �� ������ �F%�� ���T1  �T2’  $�6�� =�+
 M5�� ���� ���� . U�3��� =�* !�'���� !������ B�%��%�� ��* ��� �
 ���� ,����� ������ ��� ��+

 ������� 4�	 �� ������ .  
� �56 =�* $��1 �� �3�� # $�6�� ���� !���" O�* �1%�
 ��+ �����T1 . ������ U8"�ٕ� T1’  �


$�D� U����� . ������ $�&�� /�� H�6� �1�7�� U����� ������ $�%���� O31 )��5+ M5� ���T2  $'
�
 ������T2’  . B�%��%��� !���F��� ������� ����� ����� 4�5��� ��� ��+ ������ ������ ,��F�% ������

 !
�-��� !�*�3��� >�6�� .  

  

  مسار التيار الموجب والسالب ا�مامي والعكسي ١.٧٠الشكل 

 ��� �� !K68� ���� $�&���� ����
 $8� :  
•  ������� ��� $�6 �
)T1 �D1  ( � )T2’  �D2’  ( �F%1* �1�%� !�'�� : 

Us = Ue    et      Ie = Is       )Q.QQ](  



 

•  ������� ��� $�6 �
)T2 �D2  ( � )T1’  �D1’  ( �F%1* �1�%� !�'��:  
Us = - Ue    et      Ie = - Is     )Q.QQQ( 

 (���� ����Us  ����� $��� B�� # >%�6 $���� !������ (���
 �� M���2Ue  ���� ��-
$�%��.  !������� !������ /�6��� ���� ������� $�&��� ��%�� $��* ���&� [%��<Us>  (���� �����

Us .!������� !����� ���&� �����1 �11
 ���<Is>   (���� ����� Is  . �
 ���
 $�6�� ��� )���
 �-��6�. !����� M�6 (���� �����  !������ !������ /�6��� =�* ���%�" $%���� ��L� �11
 �1�� ��	

 ,����� �
 ,��5�� (���� ���� ���� �
� . �� ������ $%���� ��L� $�%���� /�K1 $��6� ����-�� �� ���
 ��8���(T1,D1)   �(T2,D2)   $���� �
 �L��7�� /� �����Q.:;.  

  

  

 ����	3.B3 � ���� >�/�	 >	��C ���  

•  $�6�� ���� !����� ,���� ��L�%��" /�� !����� 4�L� $�%���� ����"Is �����+ �
 �	�5���.  �

 ��5���� /� �� ���� 4�	 $�%���� !��� �"���� ,����� ������� ������ ������ �
 ����� ����� #

��1�� =�* !������ � : 

•  ������ ��� ��+Is>0   
���� ������ $�&�� !��6 $7��� !����� 4�	 �
 $�%���� �
 �
 #
 ������ Buck  ������� # T1 ,D1’  M5���� ������  ����� �* !��V���� �	Is . 

•  ������ ��� ��+Is<0  ������ �
���� ������ $�&�� !��6 $7��� !����� 4�	 �
 $�%���� �
 �
 #
 Boost  ������� # T1’ ,D1  M����� ������  ����� �* !��V���� �	Is .  



 

  

 ����	3.B; D��6	 �� ���	 ���/  

•  �����+ �� ��&�� $�6�� �
 ������ 4�5�� �L�
 ��&�� $�&�� B0�6 ,�-�
 $������� %5��
 $���� �
 E-�� �	 ��� ��%�� O31 $8�Q.:^ . 

  
 ����	3.B<  E/ ��%�	 ���� @���0	��2���	 ��  �  

$�&���� �� !��6�� 4�	 $7� �
�� T��� ������� ���5 �� $������ /�� # ������ ������ !��6 �
 �
������� ������� >%��� $�&�� !���� �5��1 %"� # :  
�  ������ >%��" /��T1  ������ �
 ����� ��
Is  M5��.  
�   ������ >%��" /��T1’  ������ �
 ����� ��
Is  M���.  
�  ������� !������ >%��" )��5+ /��T1  �T1’ ������ ��&� ��%1*Is  $�%���� ��% $8� �����+ �� .  

/�* $��� ������� !�������� >%����� =�* %���1 #T1  �T1’  ������ >���+ B1�� ��L� T��� #Is.  ��	
 ,8'�� ������� %6
 ���� ��%1* �1
 �1���� ������ %��%�� 2��� �* ������1 �
 �1��* # ,���
 _%�

�� ������ �����1�����.  ��� 4�5�0� !�'�� �� %�3��1 �1	������1����� �
 ������ ����� %6� ����� #
 !*��5��� ���� ���� ������ ������ �J
 �����1����� $�&�� �
 _%" =�* �1��* �11
 ��  �1
 �1��

��1��� ���/ �� %��%%��%�� ��* [�� ��� $�'���� 4�1��1 ���� �����1������ ��� ��� #  .  
 =��D� !����� �
 /� �� $7��� !�1�7�� !����� $�&���� !��Y. $�����Q.:S  !�1�7�� $�%���� !��� ����.  



 

  
 ����	3.B9 ��0�)�	 �� ���	 ���/  

•  $�6�� ���� ��� ��+Is>0 #  !��6� $7��� !����� 4�	 $�&�� �J
 ������ �
���� ������ $�&��
Boost .  ������� T2’  �D2 �1�����  $�6�� ���� ����� �* ����V��Is . 

•  $�6�� ���� ��� ��+Is<0 #   
���� ������ $�&�� !��6� $7��� !����� 4�	 $�&�� �J

 ������Buck . ������� T2�’D 2 �1�����  $�6�� ���� ����� �* ����V��Is . 

•  ���� ��� ��+ $�6��Is  �
 T����� ������� ���5 �J
 #������� ��% $8� �����+ ��
 $���� �
 ������ $���� �� !���" !����� ,���� !������Q.:^ . 

  

!������ !����� /�� ������� >%��" # =��D� !����� !��1��� /� ���.  �������1��� $� �J
 ���*�T2  �
T2’ %6�� �\� !��� ��L��'�� /���. �L�� %��%�� ��* )��� ���� 4���� �"����� ������ >���+ B1�� �

 �����1����� �
 .  
•  �����1����� ��� ��+K  ������ �J
 ,8'��Ik  4��* ���� ,��5�� ���� �
 M5�. 
•  �����1����� ��� ��+K  ������ ���� ,8'��Ik  %��%�� ��* ���� �F%1* ������ �J
 # ,�����

��� O���� 4�5��� $'����  �����1��. 
3.4.<.<  ������ ���� .����/�	 ��� 

 T���� $��� $���� �������� �� M������  (���D� $�� =�* $�'6�� ������ $���� �
 >%�����
Q.:Q . $���� �
Q.:W  ������� ������� ������ $%���� $����� $����  ��1 )���5�� ������ (  

  



 

 ����	3.B4 ?�#�0� ����� ���
�	 �����	  

•  ������ ���1 �
 �1��* 48*� $���� �
UA    �������UB  �
 H�6 #A,B  �
 �����1 ��	
 !������ # !��� $� �'�1� �
 ���-��� ����C�UA  �
UB  ����	 ���� ����� ������

 $�&���� $8� �����1�� . ����� �����1�� ����	 ��� $�'���� $�6�� ���� �
 $���� �����
 :Us =UA- UB ��� # $��Q.:R  $�'�� B������ ,���� �����1�� ����	 ���� B���&� ����

 ������� $'
� . 

•  >%������ /�6��� B�-�1 ��1��� �����D� �������C1,C1’ ,C2 , C2’  =�* !������ ��������
 ������� T1 ,T1’,T2 ,T2’.  4�%" ��% $8� >%��� ������� 4�	T . 

������� )���7�� �
# !������1�����!���� (T1 �T2’  $���� %6�� �\� $�&���� �
 _%��� B�-�1 =����
 !�1���� >��3�� $8� DT  H�6 #D  ��%�� $��*Duty Cycle �&�� ����� �3' !����� ��� �
E�6'�� %6����� . >��3�� $8� T��� �56�� �
 $'3�� ������� 4�	 %��� �F%��(1-D)T.  =�* ,)�1�
 ������ E�'� T��UA  ,������ ��1��� ����Ue $�'���� >��
 $8� T��� ������ $��1�� #UA  �3'��
 ��%�� �"��(1-D)T .  
 �������T2  �T1’  ������� �� !������ !������  ���� ��L-�� �� �������� �8���T1 �T2’. 

 >��3�� $8�DT  >��3�� $8�� #�56 !��6 �
 �������� ���� ��%�� ��(1-D)T  ���	 $�&�� /��
�������� . !��1�� ���� E�'� ���* ,)�1� UB �� !��%�� ��1��� ���� ����� /7 �3'�� ��Ue  .  

 $�6�� ����Us  �������� ������ 2�
 �����UA �UB :  
Us = UA – UB 

>��3�� $8�DT  : Us = Ue 

  >��3�� $8��(1-D) T  :Us = - Ue                         )Q.QQ; (  
� (���� ���� �
 �
 $���� ���� B8����� �� ����2Ue !���� =�+ !���� �� . (���� ���� �
 �


!����� !�5�� !�K6� /�" �� �����.  



 

  
 ����	3.B8 �� ���	 ��E/ ��� ���A  

3.4.9 ��F�0�	 �����6	 
�-E��	  

 ��� �� ��'�� �3�� ���  ����� ����� �
 (�6�� $�&���� /�K1 �1�%� O�� $%���� ��	 �
 :  
• �� (���� ����� !������� !������ $�%�� ���� ��� !"8�. 
•  ��1��� �� $%���� 4�5��� ����  ������� ������� $%���� (�� ���� ��� !"8���. 
•  $%���� (�� ���� B�5���. 

 $����� !1����� $���� !���� =�* %���1 ���Q.::   

  

 ����	3.BB  �����	� ������� �����	 � ���	 )�
�	 � ���	��(  

3.4.9.3  � ���	 >�/ �, ������	 �����	  



 

 $�%�� ���� ��� !"8��� %�5�NUe  (���� ����� !������� !������<Us>  ��1� �
�� =�* %5������
 ������ Ls/Es  $���� ����1 ���Q.:a  ������ B���&� ���� ����Us !*�-���� !����� ,���� #

 ��%�� $����D  .  
$7�� ��%�� $��* �� H�6  ������ $�'�� >��
K1  ) ���'1��� �� ������ T1   �D1 ( ��ٕ� ��	 #
 ������ $�'�� >��
K1  ������ $�'�� >��
 $7���K2’   ) �� ������T2’   �D2’  ( ���*�:  

D = 
�	(�����)



   = 

�	(������)



          )Q.QQ^(  

 ������� ������<Us>  ������ ��1� =�* 2�����Ls/Es  !������ !"8���� ���� :  
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[��
 !�6�1 ��68� M5� #������� $�&���� >��
 $8� �
 !K !�76�� �
�� =�* ������� ������ #
Ls  ,���%�� ���� . $���� ,�����  !5��1����Q.::  �1�%� ���� :  


���

��
  = 

��

��	
		= 2D – 1         �
 H�6<Us> = Es       )Q.QQ:(  

 $���� �
Q.:b  !��1�� B���&� $��
���

��
  $���� �����D.  ��� (���� ���� ��&�� ��� [�1�

 �������� – Ue  �+ Ue   . !���� !��" =�* ���5�� $%���� (�� �
 $'61 �
 ,�-�
 �11���
 �������� ��� ��&��0  �1 .� >���+ ���&� ���� ���5��� (���� ���M������ M5���� 4� .�� �
 ��� ��

 ,������ ,��5�� ���� %" (���� .  

  

 ����	3.BG�������	 >�/�	 ���� 
	��2�  �� �	 ����� ����� �/ �	 ����� ���0���D  



 

3.4.9.; �����	� ������� �����	 � ���� ������	 �/ �	 ���� 

�%�� ����� !������� !����� ��� !�K�1�� !"8��� %�5�N ���� $ Ie  (���� �����Is .  ���1 ���
�����1��� �� ������ ������ Ti  ���* %��% �Di  /���Ki  $���� �
 ���Q.Qa] .  

  

 ����	3.3HI  ����� ���� � ��– �����	� ������� ���� �����  

 $���� �
QQaQ a  %%�� $�5� ��- ����7 >���+ �� (���� ����$%���� $�%����. *� /�� $%���� ����
�������� ���* ����� . ��L� ���� �
 �	 =����� $���� �
 #,����� �
 ,��5�� E�'� �
 ������

M5�� . $�%�� ����� !��1���Ie ������� $�%���� B���3� !���� !��"� !���" U���1� B0�6 �1��� # :  
•  !�1���� >��3�� $8�DT  ������� K1  �K2’ "8��� �1�%� ����� $�'�� !��6 �
 ���� !

 !������ : 

Ie =Is                       )Q.QQa(  
 ������Is   ������� Ie ���5��.  ������ %���� !��6 2
��� >��3�� 4�	�Is %����� $�%�� ���� �
 ��� #

 !������ O31� .  
•  ��%�� �� !�"���� >��3�� $8� (1-D)T  ������� K2  �K2’ !�'�� �����1�%� ������ #: 

                                    Ie  = - Is                )Q.QQb( 
  ������ Is M5�� ������ # Ie $�%���� >��
 $8� ������ !�������� /%* ��3� ��� # !����� >���+ ��. 

 ������ ��� G"�1� !��6 2
��� $�&���� �� ����� ��	 #[��
 !�6�1 ��Is#  ������ ��� Ie  ��
 �J
 !����� >���+!��1�� O31� %������ ������ ��	.  
 $�%�� ����Ie  $���� B8����� �� ����� �1
 [�1 $%���� $�%� �
 +Is   �– Is.  4�	  �*

 ��%�� $��* !��" �
 $�'���� >��
 ���� B8������� D .  
 $���� �
Q.QaQ b  �����+ �� ��� $%���� (�� ����>%������ ������� %%�� >��
 $8� .�6�� 4�	 !�

 ������� $�6�� ���� ��� !��6 2
���<Is> >��&' !3��- /�" ��. ��� !�������� /%* �
 ���� �
!��6�� 4�	 �
 $"
 B6-
 ��1���.  
 (���� ���� >���+ B1�� ��L�Is# �� ��	 B���&� �
 H�6��� !������� !����� $�6 H6� ���� ���� #

 $�%�� ����� !������� !����� ��'��<Ie> "8����!������ !:  



 

( )[ ]

( ) ( )120112
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TDIDTI
T

I

Se

SSe  

 =�* $'61 �1��     :
���


���
= 2� − 1                  )Q.Q;Q(  

  

  

 ����	3.3H3 �����	� ������� �����	 � ���� >�/�	� �/ �	 ����  

�>���D� !"8��� =�* 2������ ��� ����� B������� ���5 �
 ��� #– �����#  !��1 �
 ��� [�1
 �6��� ��%�� $���� !���� $�D.  B������� ��� !"8��� ����� �	�
���

��
 .  

[��
 !�6�1 �� !���D� B��7�%6N� �
 $��� �
 M5� ���* $��1 ���� ���5�� ������ ��� #
������� ������. � ��� !�%������  !*����0� �J
������� �L�����ٕ� �L	�5�� �� ��&#  4���10� ,��F�% �1��*

�� !������ ���� :  
• Ue ���� ��1�# $�6�� !��&��� �%'� $7���#  ,��5�� ��1��� ����� ��1��� ���� )�%5 ��� ��+

 !�5�� �	� $�6�� 4�5��� ��1��� �� !�%�" !*����0� �
 �1�� ��	Ue .Ie> 0 . 
• Is $�6�� ���� $7���� ����� $�6�� ����� !������� !����� )�%5 ��� ��+ #������ ��1� # $�6

 ��1��� �� !*����0� �5��� $�6��
 ,��5�� ���������. ��	 > 0 . 
 ��%�� $��* !���� ,���� T��� �	V��5+ ���� $�&�� B0�6 >%* %5�� !��6�� 4�	 �
 :  

�  ��� !��6 �
D< ½   : ������� ������< �� >  M��� (���� �
 :  
•  ��� ��+Is<0  �J
Ie>0   . !�%��  �F%1*  !*����0� ��1� =�+ >�5���� #������ ��1� ��

 M5�� ��	8�� ������ . ������ ��1� �61 ������ ��1� �� >�%��� $�1 /�� . 



 

•  ��� ��+Is> 0   ������ �J
Ie< 0   . =�+ >�5������ ������ ��1� �� !�%���� !*����0�
!���� ����� ������ ��1�. ��� ��1� 4�5��� ������ ��1� �� >�%��� $�1 /�� ��� . 

•  ��� !��6 �
D> ½   : ������� ������< �� >  M5��  (���� �
 : 

•  ��� ��+Is> 0   ������ �J
Ie> 0   .5������ ������ ��1� �� !�%���� !*����0� =�+ >�
!�5��  ����� ������ ��1� #. �� >�%��� $�1 /�������� ��1� 4�5���  ������ ��1� . 

•  ��� ��+Is<0  �J
Ie<0   .0�>�5���� #������ ��1� �� !�%��  �F%1*  !*����  ��1� =�+
!����  ��	8�� ������ . >�%��� $�1 /�������� ��1� �61  ������ ��1� �� . 

 

  
 ����	3.H; �����	� ������� �����	 ������ >�/�	 ���� 
�
���  

∆	Is = 	
("#	–	%&	)

'�(
D       )Q.Q;W(  

  : إعادة التعبير عنه بالشكل  يمكن) ١.١١٧(بالعودة للع�قة

∆	�� = 	
("#		)

'�	(
		2D (1-D)       )Q.Q;R( 

دما يكون توتر الخرج مساوي أي عن. ½ = D تصل التعرجات العظمى لتيار الحمل عند عامل دور 

ومھما تزايد عامل . وھذا يوافق الحالة الحرجة العظمى المطلوب حساب الحثية عندھا . للصفر
  . تتغير تعرجات التيار الدور فلن 
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